1Q Brackets

1015-WB, i012-WB, i010-WB, i08-WB

Steel Wall Brackets for iQ Series Loudspeakers

Quickstart Guide

O Turbosound



2

E

&

F

&)

3 ®

J

s

CN

2

2 iQ Brackets

LEGAL DISCLAIMER

MUSIC Group accepts no liability for
any loss which may be suffered by any
person who relies either wholly or in
part upon any description, photograph,
or statement contained herein. Technical
specifications, appearances and other
information are subject to change
without notice. All trademarks are the
property of their respective owners.
MIDAS, KLARK TEKNIK, TURBOSOUND,
BEHRINGER, BUGERA and DDA are
trademarks or registered trademarks of
MUSIC Group IP Ltd. © MUSIC Group IP
Ltd. 2015 All rights reserved.

LIMITED WARRANTY

For the applicable warranty terms and
conditions and additional information
regarding MUSIC Group's Limited
Warranty, please see complete details
online at music-group.com/warranty.

NEGACION LEGAL

MUSIC Group no admite ningun tipo

de responsabilidad por cualquier

dano o pérdida que pudiera sufrir
cualquier persona por confiar total

o parcialmente en la descripciones,
fotografias o afirmaciones contenidas

en este documento. Las especificaciones
técnicas, imagenes y otras informaciones
contenidas en este documento

estan sujetas a modificaciones sin

previo aviso. Todas las marcas
comerciales que aparecen aqui son
propiedad de sus respectivos duefos.
MIDAS, KLARK TEKNIK, TURBOSOUND,
BEHRINGER, BUGERA y DDA son marcas
comerciales o marcas registradas de
MUSIC Group IP Ltd. © MUSIC Group IP
Ltd. 2015 Reservados todos los derechos.

GARANTIA LIMITADA

Si quiere conocer los detalles y condiciones
aplicables de la garantia asi como
informacion adicional sobre la Garantia
limitada de MUSIC group, consulte

online toda la informacion en la web
music-group.com/warranty.

DENI LEGAL

MUSIC Group ne peut étre tenu

pour responsable pour toute perte
pouvant étre subie par toute personne
se fiant en partie ou en totalité a

toute description, photographie ou
affirmation contenue dans ce document.
Les caractéristiques, I"apparence et
d’autres informations peuvent faire
I'objet de modifications sans notification.
Toutes les marques appartiennent

a leurs propriétaires respectifs.

MIDAS, KLARK TEKNIK, TURBOSOUND,
BEHRINGER, BUGERA et DDA sont

des marques ou marques déposées de
MUSIC Group IP Ltd. © MUSIC Group IP
Ltd. 2015 Tous droits réservés.

GARANTIE LIMITEE

Pour connaitre les termes et conditions
de garantie applicables, ainsi que

les informations supplémentaires et
détaillées sur la Garantie Limitée de
MUSIC Group, consultez le site Internet
music-group.com/warranty.

HAFTUNGSAUSSCHLUSS

MUSIC Group lGbernimmt keine Haftung
fir Verluste, die Personen entstanden
sind, die sich ganz oder teilweise

auf hier enthaltene Beschreibungen,
Fotos oder Aussagen verlassen haben.
Technische Daten, Erscheinungsbild

und andere Informationen kdnnen ohne
vorherige Ankiindigung geandert werden.
Alle Warenzeichen sind Eigentum der
jeweiligen Inhaber. MIDAS, KLARK TEKNIK,
TURBOSOUND, BEHRINGER, BUGERA
und DDA sind Warenzeichen oder
eingetragene Warenzeichen der

MUSIC Group IP Ltd. © MUSIC Group IP
Ltd. 2015 Alle Rechte vorbehalten.

BESCHRANKTE GARANTIE

Die geltenden Garantiebedingungen
und zusatzliche Informationen bezliglich
der von MUSIC Group gewahrten
beschrankten Garantie finden Sie online
unter music-group.com/warranty.

LEGAL RENUNCIANTE

O MUSIC Group nao se responsabiliza por
perda alguma que possa ser sofrida por
qualquer pessoa que dependa, seja de
maneira completa ou parcial, de qualquer
descrigao, fotografia, ou declaragao aqui
contidas. Dados técnicos, aparéncias

e outras informacgdes estdo sujeitas

a modificagcoes sem aviso prévio.

Todas as marcas sao propriedade de seus
respectivos donos. MIDAS, KLARK TEKNIK,
TURBOSOUND, BEHRINGER, BUGERA e
DDA sao marcas ou marcas registradas do
MUSIC Group IP Ltd. © MUSIC Group IP
Ltd. 2015 Todos direitos reservados.

GARANTIA LIMITADA

Para obter os termos de garantia
aplicéveis e condigbes e informagdes
adicionais a respeito da garantia
limitada do MUSIC group, favor verificar
detalhes na integra através do website
music-group.com/warranty.

ERIEE

ZZicEEN SRR BEE. ERO2HK
FlelF—ERICEIL T, WHIRBADEE
EEUS B EICH. MUSIC Group
[E—YDBEEEEEAWNE T A, Fif
Tk, AR LV ZDMOERIET

SR EBICHRBDGEENHNET, &
BIEITRT, FNZNOREEICRE

L¥* 9, MIDAS. KLARK TEKNIK,
TURBOSOUND. BEHRINGER.
BUGERA £ &0 DDA (& MUSIC Group
IP Ltd. DFFIZEF 2 EEREIET

9, © MUSIC Group IP Ltd. 2015 ERf
AL,

PR RE R EE

BRI N 2R EE MUSIC Group
DRERIEICETHHMEICDNTIE.
ek A
music-group.com/warranty
[CCE Mz SRR 23 W,

e
SRR i AR R BRI £ 5

s ER A A B A ek AR AR IE YR

&£, MUSIC Group AR EMRIHEE,
HASHININETEY, BAHIT
B, FENARSAEEEMESE

Kt 7=, MIDAS, KLARK TEKNIK,
TURBOSOUND, BEHRINGER, BUGERA
#1 DDA £ MUSIC Group IP Ltd. A&
BHREEME R, © MUSIC Group IP
Ltd. 2015 MR#LEF B,

RIEEFER
BREREARERERSE
AREEHRXER, EEM
music-group.com/warranty

Wik EE T ENIFEER

Quick Start Guide 3

Thank you for choosing a TURBOSOUND loudspeaker product for your application. If you would like further ( EN

information about this or any other TURBOSOUND product, please visit our website at turbosound.com.

Unpacking the Brackets
After unpacking the unit please check carefully for damage. If damage is found, please notify your
supplier at once. You, the consignee, must instigate any claim. Please retain all packaging in case of

future re-shipment.

The graphics below show the assembly of the optional mounting brackets (iQ8-WB, iQ10-WB, iQ12-WB
and iQ15-WB). These mounting brackets are designed to mount one speaker each only. Do not secure any
additional loads of any kind. These brackets are intended solely for use with iQ speakers when assembled

in accordance with the following instructions:

i08-WB Yoke Mounting
iQ8-WB YOKE HORIZONTAL MOUNTING

iQ8-WB YOKE VERTICAL MOUNTING

Step 1: Secure Yoke Spacers

1 2

Step 3: Place Speaker Into Yoke Bracket

ITEM DESCRIPTION QUANTITY
1

Yoke spacer Steel yoke bracket 1
2 M5 x 25 mm screw with 4 assembly
nylon thread locking M8 x 25 mm screw 2
M8 plain washer 2
Step 2: Assemble Steel Yoke Bracket 4 M8 spring lock washer 2
1 Steel yoke bracket 1 1
2 Steel yoke bracket 2 1
3 M5 x 15 mm screw 2
4 M5 plain washer 2
5 M5 nylon locking nut 2




4 iQ Brackets Quick Start Guide

i08-WB Mounting Options iQ10-WB Mounting Options
CEILING MOUNTED WALL MOUNTED CEILING MOUNTED WALL MOUNTED

iQ10-WB Yoke Mounting
iQ10-WB YOKE HORIZONTAL MOUNTING iQ10-WB YOKE VERTICAL MOUNTING

NOTE: For iQ8 and iQ10, the finished bracket requires only 2 pieces, while the iQ12 and iQ15 bracket

requires 3 pieces.

i012-WB Yoke Mounting
iQ12-WB YOKE HORIZONTAL MOUNTING iQ12-WB YOKE VERTICAL MOUNTING

Step 1: Secure Yoke Spacers Step 3: Place Speaker Into Yoke Bracket

ITEM DESCRIPTION QUANTITY ITEM DESCRIPTION QUANTITY
1 2 1

Yoke spacer Steel yoke bracket 1

9 M5 x 25 mm screw with 4 assembly
nylon thread locking 2 M8 x 25 mm screw

M8 plain washer
Step 2: Assemble Steel Yoke Bracket 4 M8 spring lock washer

ITEM Step 1: Secure Yoke Spacers Step 3: Place Speaker Into Yoke Bracket

NN N

1 Steel yoke bracket 1 1
v M
2 Steel yoke bracket 2 1 ; Yok ) Stoel voko brack
3 M5 x 15 mm screw 4 oke spacer - 1 a:;grrzlgl e bracket 1
M5 olai h 4 9 M5 x 25 mm screw with 4 y
4 5 plain washer nylon thread locking 2 M8 x 25 mm screw 2
5 M5 nylon locking nut 4 3 M8 plain washer P
Step 2: Assemble Steel Yoke Bracket 4 M8 spring lock washer 2
W
1 Steel yoke bracket 1 1
2 Steel yoke bracket 2 1
3 Steel yoke bracket 3 1
4 M6 plain washer 6
5 M6 x 16 mm screw 6
6 M6 nylon locking nut 6




=)

6 iQ Brackets

i012-WB Mounting Options
CEILING MOUNTED

WALL MOUNTED

i015-WB Yoke Mounting

iQ15-WB YOKE HORIZONTAL MIOUNTING

Step 1: Secure Yoke Spacers

ITEM DESCRIPTION QUANTITY

1

Yoke spacer

2

2

M5 x 25 mm screw with
nylon thread locking

4

Step 2: Assemble Steel Yoke Bracket

ITEM DESCRIPTION QUANTITY

1

Steel yoke bracket 1

1

Steel yoke bracket 2

Steel yoke bracket 3

M6 plain washer

M6 x 16 mm screw

o0~ WN

M6 nylon locking nut

oo |= =

iQ15-WB Mounting Options

CEILING MOUNTED

iQ15-WB YOKE VERTICAL MOUNTING

Step 3: Place Speaker Into Yoke Bracket

ITEM DESCRIPTION QUANTITY

1

Steel yoke bracket
assembly

1

2 M8 x 25 mm screw 2
3 M8 plain washer 2
4 M8 spring lock washer 2

WALL MIOUNTED

Quick Start Guide 7

IMPORTANT NOTE: The mounting of a permanently installed sound system may be dangerous unless undertaken
by qualified personnel with the required experience and certification to perform the necessary tasks. Walls,
floors or ceilings must be capable of safely and securely supporting the actual load. The mounting accessory

used must be safely and securely fixed both to the loudspeaker and to the wall, floor or ceiling.

When mounting rigging components on walls, floors or ceilings, ensure that all fixings and fasteners used
are of an appropriate size and load rating. Wall and ceiling claddings, and the construction and composition
of walls and ceilings, all need to be taken into account when determining whether a particular fixing
arrangement can be safely employed for a particular load. Cavity plugs or other specialist fixings, if required,
must be of an appropriate type, and must be fitted and used in accordance with the maker’s instructions.
When suspending the components a secondary safety method should be used in accordance with local laws
and standards.

The operation of your speaker cabinet as part of a flown system, if installed incorrectly and improperly,
can potentially expose persons to serious health risks and even death. In addition, please ensure that
electrical, mechanical and acoustic considerations are discussed with qualified and certified (by local state
or national authorities) personnel prior to any installation or flying.

Make sure that speaker cabinets are set up and flown by qualified and certified personnel only, using
dedicated equipment and original parts and components delivered with the unit. If any parts or

components are missing please contact your Dealer before attempting to set up the system.

Be sure to observe the local, state and other safety regulations applicable in your country. MUSIC Group,
including the MUSIC Group companies listed on the enclosed “Service Information Sheet”, assumes no
liability for any damage or personal injury resulting from improper use, installation or operation of the
product. Regular checks must be conducted by qualified personnel to ensure that the system remains in a
secure and stable condition. Make sure that, where the speaker is flown, the area underneath the speaker is

free of human traffic. Do not fly the speaker in areas that can be entered or used by members of the public.

Speakers create a magnetic field, even if not in operation. Therefore, please keep all materials that can
be affected by such fields (discs, computers, monitors, etc) at a safe distance. A safe distance is usually

between 1 and 2 metres.

&N



8 iQ Brackets Quick Start Guide 9

EN > iQ8-WB Drilling Plan (EN

iQ8-WB VERTICAL MOUNTING iQ8-WB HORIZONTAL MOUNTING
©
S
8
100 [3.9] 3
3
56 [2.2]
©
2 |
5 R
100 [3.9] 3 @
0
56 [2.2] i
@ I -f-
| i | A
> @ s o i o
[}
@ [ %
. |
o) @ e) o) @ e)
o) | o)

[L-9] g6l

[8'L] 66L
[8CL]l vee
10

|

i
[LEL] g€
[8vL] LLE
[L'6L]LOS

(@)
(@)
o O

@)
[6'0l ¢

__@___
4= o |
5 -0
4—=p ©

dAL8IN




10

EN ) iQ10-WB Drilling Plan

iQ10-WB VERTICAL MOUNTING

iQ Brackets

©
©
=)
8
, 118 [4.6] 2
_|
57 [2.2] 3
|
JUIT—— U |
0 D
© . ©
N w
g8 [
% o |&
o = |x
<
0]
_|
.<
vl

iQ10-WB HORIZONTAL MOUNTING

12

118 [4.6]

57 [2.2]

dAL[6E0]6°6

JU‘UL

I

O

|
|
5
|
|

oz
404

O
@0
O

i

O@O

©

o

o O

[LLlLe

[v¥L] G9€
[g9oL]l6LY

I

dAL 8N

[gzelzLs

Quick Start Guide

"

&N



13

Quick Start Guide

iQ Brackets

EN > iQ12-WB Drilling Plan

12

&N

iQ12-WB HORIZONTAL MOUNTING

iQ12-WB VERTICAL MOUNTING

657 [25.9]
99 [3.9] 95 [3.7]
9.9[0.39]1 TYP 81 [3.2] M8 TYP 77 [3.0]
[
L [
=7 o} @) O o} -
33 5 ® ® o
o M T —-—O)—- =X -—@—- == - — e — e — —— -t
m m o @ _w|@| @ @I °
Il
p. T
=P o O | @) o) —
cL
422 [16.6]
99 [3.9] 95 [3.7]
9.9[0.39] TYP 81 [3.2] M8 TYP 77 [3.01]
[ |
L [ _
= o _ © = -
I
g3 © _ ©
Sl b I |m_w| A N |
2l & e @ %
Il
p. |
=P o _ © = -




15

Quick Start Guide

iQ Brackets

EN > iQ15-WB Drilling Plan

14

&N

iQ15-WB HORIZONTAL MOUNTING

iQ15-WB VERTICAL MOUNTING

756 [29.8]
88 [3.5] 134 [5.3]
9.9 [0.39] TYP 70[2.8] M8 TYP 116 [4.6]
[ _
— -|-\ ;
=1 o [© _ [ o =2 -
—_— 1
©| 5 |
o ° © A © ©
=2 @ ae—— o -— - =-—0)—- —-)—=1—- -— e ———
2l e o o @ PO g © o
|
\ = © © _ © = -
= i
CL
496 [19.5]
88 [3.5] 134 [5.3]
9.9 [0.39] TYP 70[2.8] M8 TYP 116 [4.6]
| |
— .|.\ :
= [ _ o | -
—_— 1 1
©o| o 1
slagl Al ] 1@ & A ® o _ ]
2le © ©-—&- ©
] |
2 =2 o _ O | -




turbosound.com @ TUFbOSOUﬂd



